

City of Kettering Bid Tabulations

02-232A Valleywood Drive Improvements

Description: THE CITY OF KETTERING MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE PART OF THIS PROPOSAL AND MAY BE REFERENCED FOR A MORE COMPLETE DESCRIPTION OF ITEMS LISTED. RETURN ONE (1) FILLED-IN COPY OF THE

PROPERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS.

				Engineer's l	Estimate	(1) L. J. DEWEE	SE CO., INC	(2) Double Jay C Inc	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
Section 1: Def	ault Section								
0010 STUMP REMO	201-1500 VAL	EACH	5.00	\$500.000	\$2,500.00	\$220.000	\$1,100.00	\$192.000	\$960.00
0020 TREE & STUM	201-1100 IP REMOVAL, 1	EACH 2"-23"	13.00	\$700.000	\$9,100.00	\$880.000	\$11,440.00	\$605.000	\$7,865.00
0030 TREE & STUM	201-1200 IP REMOVAL, 2	EACH 4"-35"	7.00	\$1,000.000	\$7,000.00	\$1,320.000	\$9,240.00	\$1,210.000	\$8,470.00
0040 TREE & STUM	201-1300 IP REMOVAL, 3	EACH 6" AND GREAT	7.00 ER	\$1,500.000	\$10,500.00	\$1,650.000	\$11,550.00	\$1,760.000	\$12,320.00
0050 CONCRETE F	202-3021 LATWORK REM	SF OVED (9" & U	17,580.00 NDER), AS PER PLAN	\$2.500	\$43,950.00	\$2.000	\$35,160.00	\$1.350	\$23,733.00
0060 CONCRETE C	202-2101 URB AND GUT	FOOT TER REMOVED	6,776.00 , AS PER PLAN	\$7.000	\$47,432.00	\$6.000	\$40,656.00	\$8.200	\$55,563.20
0065 PIPE REMOVE	202-1010 CD (>8")	FOOT	40.00	\$10.000	\$400.00	\$25.000	\$1,000.00	\$20.550	\$822.00
0070 CATCH BASIN	202-1100 REMOVED	EACH	7.00	\$300.000	\$2,100.00	\$300.000	\$2,100.00	\$441.000	\$3,087.00

Bid Tabulations: 02-232A Valleywood Drive Improvements

				Engineer's l	Estimate	(1) L. J. DEWEE	SE CO., INC	(2) Double Jay Construction, Inc	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0080 EXCAVATION,	203A-1014 12" MAXIMUM	SY DEPTH, AS PER F	120.00 LAN	\$30.000	\$3,600.00	\$20.000	\$2,400.00	\$9.350	\$1,122.00
0090 PAVEMENT RE	253-1001 EPAIRS, AS PER	SY PLAN	423.00	\$90.000	\$38,070.00	\$55.000	\$23,265.00	\$92.750	\$39,233.25
0100 PAVEMENT PL	254-1001 .ANING, AS PE	SY R PLAN	8,450.00	\$2.250	\$19,012.50	\$1.600	\$13,520.00	\$1.700	\$14,365.00
0110 AGGREGATE E	304-1101 BASE, 6" DEPTH	TON I UNDER CURB SI	940.00 ECTION (OTHERWIS	\$22.500 E INCIDENTAL	\$21,150.00 TO OTHER ITEM	\$25.000 (S)	\$23,500.00	\$27.000	\$25,380.00
0130 TACK COAT, TI	407-2001 RACKLESS TAC	GAL K, AS PER PLAN	915.00	\$2.250	\$2,058.75	\$1.000	\$915.00	\$1.100	\$1,006.50
0140 ASPHALT CON	441-1101 ICRETE SURFA	TON CE COURSE, TYPI	763.00 E 1 (448), PG64-22 (1	\$70.000 .5"), AS PER PL	\$53,410.00 AN	\$66.000	\$50,358.00	\$68.750	\$52,456.25
0150 ASPHALT CON	441-1001 ICRETE INTERI	TON MEDIATE COURSE	509.00 E, TYPE 1 (448), (1"),	\$70.000 AS PER PLAN	\$35,630.00	\$66.000	\$33,594.00	\$68.750	\$34,993.75
0151 ASPHLAT CON	441-1002 ICRETE INTER	TON MEDIATE COURSE	420.00 E, TYPE 1 (448), (VAR	\$70.000 IABLE THICKN	\$29,400.00 ESS), AS PER PL	\$66.000 AN	\$27,720.00	\$68.750	\$28,875.00
0161 4" UNDERDRA	605A-1002 AIN, 707.31	FOOT	50.00	\$7.000	\$350.00	\$10.000	\$500.00	\$15.150	\$757.50
0171 3" DRAIN TILE	605B-1031 E, SCHEDULE 4	FOOT 0 PVC, AS PER PL	100.00 AN	\$7.000	\$700.00	\$10.000	\$1,000.00	\$19.000	\$1,900.00
0181 4" DRAIN TILE	605B-1041 E, SCHEDULE 4	FOOT 0 PVC, AS PER PL	100.00 AN	\$7.000	\$700.00	\$10.000	\$1,000.00	\$20.000	\$2,000.00
0190 4" CONCRETE	608A-1001 SIDEWALK, AS	SF S PER PLAN	8,204.00	\$4.500	\$36,918.00	\$5.000	\$41,020.00	\$5.150	\$42,250.60
0200 6" CONCRETE	608A-2001 SIDEWALK, AS	SF S PER PLAN	2,988.00	\$5.250	\$15,687.00	\$5.250	\$15,687.00	\$6.200	\$18,525.60
0221 6" CONCRETE	608A-3001 CURB RAMP, A	SF AS PER PLAN	500.00	\$8.000	\$4,000.00	\$14.000	\$7,000.00	\$12.700	\$6,350.00
0231 DETECTABLE	608A-3083 WARNING, AS	SF PER PLAN	120.00	\$35.000	\$4,200.00	\$25.000	\$3,000.00	\$24.050	\$2,886.00

				Engineer's 1	Estimate	(1) L. J. DEWEE	SE CO., INC	(2) Double Jay Construction, Inc	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0241 6" CONCRETE	608B-1001 DRIVE APPRO	SF ACH, AS PER PLA	8,739.00 an	\$5.250	\$45,879.75	\$5.250	\$45,879.75	\$6.700	\$58,551.30
0255 ASPHALT DRIV	608B-1402 VEWAY (3" TOT	SF AL THICKNESS I	920.00 N 2 LIFTS)	\$15.000	\$13,800.00	\$7.000	\$6,440.00	\$8.800	\$8,096.00
0260 CONCRETE CU	609-1052 URB AND GUT	FOOT FER, INCLUDING	27.00 ASPHALT RESTORA	\$22.000 ATION	\$594.00	\$40.000	\$1,080.00	\$43.650	\$1,178.55
0270 ODOT TYPE 4-	609-1500 C CONCRETE (FOOT CURB	204.00	\$15.000	\$3,060.00	\$25.000	\$5,100.00	\$21.000	\$4,284.00
0280 ODOT TYPE 3	609-1425 CONCRETE CU	FOOT JRB, 21", MACHIN	6,545.00 JE-SET, AS PER PLA	\$15.000 N	\$98,175.00	\$14.500	\$94,902.50	\$14.200	\$92,939.00
0290 LOW STRENG	613-1000 TH MORTAR BA	CY ACKFILL, LSM 10	115.00 0	\$85.000	\$9,775.00	\$90.000	\$10,350.00	\$93.250	\$10,723.75
0300 MAINTAINING	614-1001 G TRAFFIC, AS	LS PER PLAN	1.00	\$20,000.000	\$20,000.00	\$29,000.000	\$29,000.00	\$31,336.150	\$31,336.15
0311 SEEDING AND	659-0254 MULCHING, 1	LS INCLUDES 4" PRO	1.00 DCESSED TOPSOIL,	\$12,500.000 AS PER PLAN	\$12,500.00	\$21,000.000	\$21,000.00	\$21,690.000	\$21,690.00
0320 12" CONDUIT,	611-4125 ADS HP STOR	FOOT M OR APPROVED	126.00 EQUAL	\$55.000	\$6,930.00	\$75.000	\$9,450.00	\$53.600	\$6,753.60
0330 CATCH BASIN	611-1050 , TYPE 2-2B (CI	EACH B2-2B), AS PER P	1.00 LAN	\$2,000.000	\$2,000.00	\$1,000.000	\$1,000.00	\$1,192.000	\$1,192.00
0340 CATCH BASIN	611-1351 , KETTERING T	EACH TYPE A, AS PER P	2.00 LAN	\$2,500.000	\$5,000.00	\$2,500.000	\$5,000.00	\$2,044.000	\$4,088.00
0350 CATCH BASIN	611-1150 , TYPE 3A- KET	EACH TERING MODIFI	4.00 ED (CB-3A), AS PER	\$2,500.000 PLAN	\$10,000.00	\$2,700.000	\$10,800.00	\$1,957.000	\$7,828.00
0360 CATCH BASIN	611-1250 , TYPE 3- KETT	EACH ERING MODIFIE	3.00 D (CB-3), AS PER PL	\$3,400.000 .AN	\$10,200.00	\$3,200.000	\$9,600.00	\$2,722.000	\$8,166.00
0370 CATCH BASIN	611-1550 , ODOT TYPE 6	EACH , AS PER PLAN	1.00	\$2,500.000	\$2,500.00	\$2,500.000	\$2,500.00	\$1,879.000	\$1,879.00
0380 MANHOLE AD	611-2811 JUSTED TO GR	EACH RADE, TYPE 1, AS	7.00 PER PLAN	\$500.000	\$3,500.00	\$225.000	\$1,575.00	\$717.000	\$5,019.00

				Engineer's l	Estimate	(1) L. J. DEWEESE CO., INC		(2) Double Jay Construction, Inc	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0390 MANHOLE AD	611-2821 JUSTED TO G	EACH RADE, TYPE 2, <i>A</i>	7.00 S PER PLAN	\$750.000	\$5,250.00	\$700.000	\$4,900.00	\$859.000	\$6,013.00
0400 CATCH BASIN	611-1831 REPAIR, AS P	EACH ER PLAN	16.00	\$800.000	\$12,800.00	\$1,000.000	\$16,000.00	\$908.000	\$14,528.00
0410 Manhole, Ki	611-2000 ETTERING TYF	EACH PE A (MH-A)	1.00	\$4,000.000	\$4,000.00	\$3,000.000	\$3,000.00	\$2,009.000	\$2,009.00
0420 WATER LINE V	901-6310 /ALVE BOX AD	EACH JUSTED TO GRA	16.00 ADE, PER MCES SPECI	\$400.000 FICATIONS	\$6,400.00	\$100.000	\$1,600.00	\$220.000	\$3,520.00
0430 WATER CURB	901-6410 STOP ADJUST	EACH ED TO GRADE	4.00	\$400.000	\$1,600.00	\$100.000	\$400.00	\$138.000	\$552.00
0460 SANITARY MA	902-2000 NHOLE ADJUS	EACH STED TO GRADE	18.00 , PER MCES SPECIFIC	\$500.000 CATIONS	\$9,000.00	\$400.000	\$7,200.00	\$574.000	\$10,332.00
0470 SANITARY MA	902-2005 NHOLE ADJUS	EACH STED TO GRADE	2.00 , PER MCES SPEC, WI	\$800.000 TH COUNTY PRO	\$1,600.00 OVIDED FRAME	\$750.000 AND LID, AS PER	\$1,500.00 PLAN	\$440.000	\$880.00
0480 BASE STABILI	905-1207 Zation- no. 2	TON 2 AGGREGATE (0	400.00 CONTINGENCY)	\$35.000	\$14,000.00	\$20.000	\$8,000.00	\$28.900	\$11,560.00
0490 EXCESS COST	915-1201 OF HIGH-EAF	SF RLY-STRENGTH	800.00 CEMENT (MEDIUM-SE	\$1.500 ET), 4"-6" CONCR	\$1,200.00 ETE FLATWORK	\$3.000	\$2,400.00	\$0.360	\$288.00
(47 Items)			Totals:		\$687,632.00		\$655,402.25		\$698,328.00

				(3) Adelt	a, Inc	(4) John R. Jur	genson Co.	(5) R.A. Miller Construction Co. Inc.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
Section 1: Def	ault Section								
0010 STUMP REMO	201-1500 VAL	EACH	5.00	\$262.500	\$1,312.50	\$600.000	\$3,000.00	\$885.000	\$4,425.00
0020 TREE & STUM	201-1100 IP REMOVAL, 1	EACH 12"-23"	13.00	\$840.000	\$10,920.00	\$1,200.000	\$15,600.00	\$1,500.000	\$19,500.00
0030 TREE & STUM	201-1200 IP REMOVAL, 2	EACH 24"-35"	7.00	\$1,050.000	\$7,350.00	\$1,500.000	\$10,500.00	\$2,060.000	\$14,420.00
0040 TREE & STUM	201-1300 IP REMOVAL, 3	EACH 86" AND GREAT	7.00 ER	\$1,575.000	\$11,025.00	\$2,000.000	\$14,000.00	\$2,615.000	\$18,305.00
0050 CONCRETE FI	202-3021 LATWORK REM	SF IOVED (9" & UN	17,580.00 (DER), AS PER PLAN	\$2.200	\$38,676.00	\$2.300	\$40,434.00	\$2.550	\$44,829.00
0060 CONCRETE CU	202-2101 URB AND GUT	FOOT TER REMOVED,	6,776.00 AS PER PLAN	\$4.650	\$31,508.40	\$10.000	\$67,760.00	\$15.200	\$102,995.20
0065 PIPE REMOVE	202-1010 D (>8")	FOOT	40.00	\$36.160	\$1,446.40	\$20.000	\$800.00	\$22.500	\$900.00
0070 CATCH BASIN	202-1100 REMOVED	EACH	7.00	\$614.700	\$4,302.90	\$500.000	\$3,500.00	\$885.000	\$6,195.00
0080 EXCAVATION,	203A-1014 12" MAXIMUM	SY 1 DEPTH, AS PE	120.00 R PLAN	\$29.900	\$3,588.00	\$22.000	\$2,640.00	\$29.950	\$3,594.00
0090 PAVEMENT RE	253-1001 EPAIRS, AS PEI	SY R PLAN	423.00	\$52.500	\$22,207.50	\$55.000	\$23,265.00	\$54.550	\$23,074.65
0100 PAVEMENT PL	254-1001 ANING, AS PE	SY R PLAN	8,450.00	\$1.600	\$13,520.00	\$1.500	\$12,675.00	\$1.670	\$14,111.50
0110 AGGREGATE E	304-1101 BASE, 6" DEPT	TON H UNDER CURE	940.00 SECTION (OTHERWIS	\$36.500 SE INCIDENTAL	\$34,310.00 TO OTHER ITEMS	\$40.000	\$37,600.00	\$46.000	\$43,240.00
0130 TACK COAT, TI	407-2001 RACKLESS TAC	GAL CK, AS PER PLA	915.00 N	\$1.050	\$960.75	\$2.000	\$1,830.00	\$1.030	\$942.45
0140 ASPHALT CON	441-1101 ICRETE SURFA	TON ACE COURSE, T	763.00 YPE 1 (448), PG64-22 (\$65.650 1.5"), AS PER PLA	\$50,090.95 AN	\$64.000	\$48,832.00	\$64.380	\$49,121.94
0150	441-1001	TON	509.00 RSE, TYPE 1 (448), (1")	\$65.650	\$33,415.85	\$64.000	\$32,576.00	\$64.380	\$32,769.42

				(3) Adelt	ta, Inc	(4) John R. Ju	rgenson Co.	(5) R.A. Miller Construction Co. Inc.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0151 ASPHLAT CON	441-1002 ICRETE INTER	TON MEDIATE COURSE,	420.00 ГҮРЕ 1 (448), (VA	\$65.650 ARIABLE THICKN	\$27,573.00 ESS), AS PER PL	\$64.000 AN	\$26,880.00	\$64.380	\$27,039.60
0161 4" UNDERDRA	605A-1002 AIN, 707.31	FOOT	50.00	\$24.600	\$1,230.00	\$20.000	\$1,000.00	\$20.000	\$1,000.00
0171 3" DRAIN TILE	605B-1031 E, SCHEDULE	FOOT 40 PVC, AS PER PLAN	100.00 N	\$22.400	\$2,240.00	\$16.000	\$1,600.00	\$16.850	\$1,685.00
0181 4" DRAIN TILE	605B-1041 E, SCHEDULE	FOOT 40 PVC, AS PER PLAN	100.00 N	\$23.250	\$2,325.00	\$16.000	\$1,600.00	\$18.000	\$1,800.00
0190 4" CONCRETE	608A-1001 SIDEWALK, A	SF S PER PLAN	8,204.00	\$5.250	\$43,071.00	\$7.000	\$57,428.00	\$5.200	\$42,660.80
0200 6" CONCRETE	608A-2001 SIDEWALK, A	SF S PER PLAN	2,988.00	\$9.800	\$29,282.40	\$8.000	\$23,904.00	\$5.600	\$16,732.80
0221 6" CONCRETE	608A-3001 CURB RAMP, A	SF AS PER PLAN	500.00	\$27.200	\$13,600.00	\$10.000	\$5,000.00	\$8.600	\$4,300.00
0231 DETECTABLE	608A-3083 WARNING, AS	SF PER PLAN	120.00	\$5.050	\$606.00	\$42.000	\$5,040.00	\$21.800	\$2,616.00
0241 6" CONCRETE	608B-1001 DRIVE APPRO	SF ACH, AS PER PLAN	8,739.00	\$10.000	\$87,390.00	\$7.000	\$61,173.00	\$5.450	\$47,627.55
0255 ASPHALT DRIV	608B-1402 VEWAY (3" TOT	SF TAL THICKNESS IN 2	920.00 LIFTS)	\$3.400	\$3,128.00	\$6.000	\$5,520.00	\$6.750	\$6,210.00
0260 CONCRETE C	609-1052 URB AND GUT	FOOT TER, INCLUDING AS	27.00 PHALT RESTOR	\$35.000 ATION	\$945.00	\$54.000	\$1,458.00	\$43.050	\$1,162.35
0270 ODOT TYPE 4-	609-1500 C CONCRETE	FOOT CURB	204.00	\$23.000	\$4,692.00	\$30.000	\$6,120.00	\$31.050	\$6,334.20
0280 ODOT TYPE 3	609-1425 CONCRETE CU	FOOT JRB, 21", MACHINE-	6,545.00 SET, AS PER PLA	\$16.950 AN	\$110,937.75	\$16.000	\$104,720.00	\$16.350	\$107,010.75
0290 LOW STRENG	613-1000 TH MORTAR B	CY ACKFILL, LSM 100	115.00	\$63.350	\$7,285.25	\$100.000	\$11,500.00	\$81.600	\$9,384.00
0300 MAINTAINING	614-1001 G TRAFFIC, AS	LS PER PLAN	1.00	\$16,020.000	\$16,020.00	\$38,000.000	\$38,000.00	\$15,000.000	\$15,000.00

				(3) Adelt	a, Inc	(4) John R. Jur	genson Co.	(5) R.A. Miller Construction Co. Inc.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0311 SEEDING AND	659-0254 MULCHING, II	LS NCLUDES 4" PROCES	1.00 SED TOPSOIL,	\$10,964.100 AS PER PLAN	\$10,964.10	\$30,000.000	\$30,000.00	\$20,000.000	\$20,000.00
0320 12" CONDUIT,	611-4125 ADS HP STORM	FOOT M OR APPROVED EQU	126.00 JAL	\$67.000	\$8,442.00	\$100.000	\$12,600.00	\$112.000	\$14,112.00
0330 CATCH BASIN	611-1050 , TYPE 2-2B (CB	EACH 2-2B), AS PER PLAN	1.00	\$2,809.150	\$2,809.15	\$1,200.000	\$1,200.00	\$1,941.000	\$1,941.00
0340 CATCH BASIN	611-1351 , KETTERING T	EACH YPE A, AS PER PLAN	2.00	\$2,951.000	\$5,902.00	\$2,500.000	\$5,000.00	\$2,655.000	\$5,310.00
0350 CATCH BASIN	611-1150 , TYPE 3A- KET	EACH FERING MODIFIED (C	4.00 CB-3A), AS PER	\$2,682.400 PLAN	\$10,729.60	\$2,570.000	\$10,280.00	\$2,757.000	\$11,028.00
0360 CATCH BASIN	611-1250 , TYPE 3- KETTI	EACH ERING MODIFIED (CI	3.00 3-3), AS PER PL	\$2,516.600 AN	\$7,549.80	\$3,600.000	\$10,800.00	\$3,880.000	\$11,640.00
0370 CATCH BASIN	611-1550 , ODOT TYPE 6,	EACH AS PER PLAN	1.00	\$3,218.900	\$3,218.90	\$2,500.000	\$2,500.00	\$2,400.000	\$2,400.00
0380 MANHOLE AD	611-2811 JUSTED TO GR	EACH ADE, TYPE 1, AS PER	7.00 PLAN	\$339.000	\$2,373.00	\$240.000	\$1,680.00	\$225.000	\$1,575.00
0390 MANHOLE AD	611-2821 JUSTED TO GR	EACH ADE, TYPE 2, AS PER	7.00 PLAN	\$565.750	\$3,960.25	\$700.000	\$4,900.00	\$709.000	\$4,963.00
0400 CATCH BASIN	611-1831 REPAIR, AS PE	EACH R PLAN	16.00	\$800.000	\$12,800.00	\$1,700.000	\$27,200.00	\$2,000.000	\$32,000.00
0410 MANHOLE, KI	611-2000 ETTERING TYPE	EACH E A (MH-A)	1.00	\$3,833.600	\$3,833.60	\$4,600.000	\$4,600.00	\$5,109.000	\$5,109.00
0420 WATER LINE V	901-6310 /ALVE BOX ADJ	EACH USTED TO GRADE, PI	16.00 ER MCES SPEC	\$272.500 IFICATIONS	\$4,360.00	\$50.000	\$800.00	\$325.000	\$5,200.00
0430 WATER CURB	901-6410 STOP ADJUSTE	EACH D TO GRADE	4.00	\$263.400	\$1,053.60	\$300.000	\$1,200.00	\$325.000	\$1,300.00
0460 SANITARY MA	902-2000 NHOLE ADJUST	EACH TED TO GRADE, PER	18.00 MCES SPECIFIO	\$727.500 CATIONS	\$13,095.00	\$240.000	\$4,320.00	\$765.000	\$13,770.00
0470 SANITARY MA	902-2005 NHOLE ADJUST	EACH TED TO GRADE, PER	2.00 MCES SPEC, W	\$728.300 ITH COUNTY PRO	\$1,456.60 OVIDED FRAME A	\$700.000 AND LID, AS PER I	\$1,400.00 PLAN	\$715.000	\$1,430.00

				(3) Adelta	a, Inc	(4) John R. Jur	genson Co.	(5) R.A. Miller Co. I	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0480 BASE STABILI	905-1207 ZATION- NO. 2	TON AGGREGATE (CONT	400.00 TNGENCY)	\$36.520	\$14,608.00	\$32.000	\$12,800.00	\$71.250	\$28,500.00
0490 EXCESS COST	915-1201 OF HIGH-EARI	SF LY-STRENGTH CEM	800.00 ENT (MEDIUM-SET)	\$2.580 , 4"-6" CONCR	\$2,064.00 ETE FLATWORK	\$0.350	\$280.00	\$2.250	\$1,800.00
(47 Items)			Totals:		\$724,179.25		\$797,515.00		\$831,064.21

				(6) Barrett Paving	Materials Inc.
Line Number	Item	Unit	Qty	Price	Extension
Section 1: Defa	ult Section				
0010 STUMP REMOV	201-1500 /AL	EACH	5.00	\$200.000	\$1,000.00
0020 TREE & STUMI	201-1100 P REMOVAL, 12"	EACH 23"	13.00	\$600.000	\$7,800.00
0030 TREE & STUMI	201-1200 P REMOVAL, 24"	EACH 35"	7.00	\$1,225.000	\$8,575.00
0040 TREE & STUMI	201-1300 P REMOVAL, 36"	EACH AND GREATER	7.00	\$1,800.000	\$12,600.00
0050 CONCRETE FL	202-3021 ATWORK REMOV	SF /ED (9" & UNDER), A	17,580.00 AS PER PLAN	\$2.500	\$43,950.00
0060 CONCRETE CU	202-2101 RB AND GUTTE	FOOT R REMOVED, AS PEF	6,776.00 R PLAN	\$14.500	\$98,252.00
0065 PIPE REMOVEI	202-1010 D (>8")	FOOT	40.00	\$20.000	\$800.00
0070 CATCH BASIN	202-1100 REMOVED	EACH	7.00	\$425.000	\$2,975.00
0080 EXCAVATION, 1	203A-1014 2" MAXIMUM D	SY EPTH, AS PER PLAN	120.00	\$38.000	\$4,560.00
0090 PAVEMENT RE	253-1001 PAIRS, AS PER P	SY LAN	423.00	\$69.000	\$29,187.00
0100 PAVEMENT PLA	254-1001 ANING, AS PER I	SY PLAN	8,450.00	\$1.800	\$15,210.00
0110 AGGREGATE BA	304-1101 ASE, 6" DEPTH U	TON INDER CURB SECTION	940.00 ON (OTHERWISE INC	\$38.000 IDENTAL TO OTHER	\$35,720.00 ITEMS)
0130 TACK COAT, TR	407-2001 ACKLESS TACK,	GAL AS PER PLAN	915.00	\$2.750	\$2,516.25
0140 ASPHALT CON	441-1101 CRETE SURFACE	TON E COURSE, TYPE 1 (4	763.00 .48), PG64-22 (1.5"), A	\$75.500 S PER PLAN	\$57,606.50
0150 ASPHALT CON	441-1001 CRETE INTERMI	TON EDIATE COURSE, TY	509.00 PE 1 (448), (1"), AS PE	\$69.000 R PLAN	\$35,121.00

			(6) Barrett Paving	Materials Inc.
Line Number	Item	Unit	Qty	Price	Extension
0151 ASPHLAT CON	441-1002 CRETE INTERMED	TON IATE COURSE, TYPI	420.00 E 1 (448), (VARIABLE T	\$80.000 HICKNESS), AS PE	\$33,600.00 ER PLAN
0161 4" UNDERDRAI	605A-1002 IN, 707.31	FOOT	50.00	\$20.000	\$1,000.00
0171 3" DRAIN TILE,	605B-1031 SCHEDULE 40 PV	FOOT C, AS PER PLAN	100.00	\$20.000	\$2,000.00
0181 4" DRAIN TILE,	605B-1041 SCHEDULE 40 PV	FOOT C, AS PER PLAN	100.00	\$20.000	\$2,000.00
0190 4" CONCRETE	608A-1001 SIDEWALK, AS PEI	SF R PLAN	8,204.00	\$6.000	\$49,224.00
0200 6" CONCRETE	608A-2001 SIDEWALK, AS PEI	SF R PLAN	2,988.00	\$7.500	\$22,410.00
0221 6" CONCRETE	608A-3001 CURB RAMP, AS PE	SF ER PLAN	500.00	\$10.000	\$5,000.00
0231 DETECTABLE V	608A-3083 VARNING, AS PER	SF PLAN	120.00	\$42.000	\$5,040.00
0241 6" CONCRETE	608B-1001 DRIVE APPROACH	SF , AS PER PLAN	8,739.00	\$7.000	\$61,173.00
0255 ASPHALT DRIV	608B-1402 EWAY (3" TOTAL T	SF HICKNESS IN 2 LIF	920.00 TS)	\$5.000	\$4,600.00
0260 CONCRETE CU	609-1052 RB AND GUTTER,	FOOT INCLUDING ASPHA	27.00 LT RESTORATION	\$30.000	\$810.00
0270 ODOT TYPE 4-0	609-1500 C CONCRETE CURI	FOOT	204.00	\$22.000	\$4,488.00
0280 ODOT TYPE 3 C	609-1425 CONCRETE CURB,	FOOT 21", MACHINE-SET,	6,545.00 AS PER PLAN	\$15.500	\$101,447.50
0290 LOW STRENGT	613-1000 H MORTAR BACKF	CY FILL, LSM 100	115.00	\$95.000	\$10,925.00
0300 MAINTAINING	614-1001 TRAFFIC, AS PER	LS PLAN	1.00	\$35,300.000	\$35,300.00
0311 SEEDING AND	659-0254 MULCHING, INCL	LS UDES 4" PROCESSE	1.00 ED TOPSOIL, AS PER P	\$24,000.000 LAN	\$24,000.00

Bid Tabulations: 02-232A Valleywood Drive Improvements

Page 10 of 12

			(6) Barrett Paving	Materials Inc.
Line Number	Item	Unit	Qty	Price	Extension
0320 12" CONDUIT,	611-4125 ADS HP STORM	FOOT OR APPROVED EQUAL	126.00	\$92.000	\$11,592.00
0330 CATCH BASIN,	611-1050 TYPE 2-2B (CB2	EACH -2B), AS PER PLAN	1.00	\$1,750.000	\$1,750.00
0340 CATCH BASIN,	611-1351 KETTERING TYI	EACH PE A, AS PER PLAN	2.00	\$3,000.000	\$6,000.00
0350 CATCH BASIN,	611-1150 TYPE 3A- KETTE	EACH ERING MODIFIED (CB-3A), AS	4.00 PER PLAN	\$2,675.000	\$10,700.00
0360 CATCH BASIN,	611-1250 TYPE 3- KETTER	EACH RING MODIFIED (CB-3), AS PI	3.00 ER PLAN	\$4,000.000	\$12,000.00
0370 CATCH BASIN,	611-1550 ODOT TYPE 6, A	EACH S PER PLAN	1.00	\$2,750.000	\$2,750.00
0380 MANHOLE ADJ	611-2811 USTED TO GRAI	EACH DE, TYPE 1, AS PER PLAN	7.00	\$300.000	\$2,100.00
0390 MANHOLE ADJ	611-2821 JUSTED TO GRAI	EACH DE, TYPE 2, AS PER PLAN	7.00	\$825.000	\$5,775.00
0400 CATCH BASIN	611-1831 REPAIR, AS PER	EACH PLAN	16.00	\$975.000	\$15,600.00
0410 MANHOLE, KE	611-2000 TTERING TYPE A	EACH A (MH-A)	1.00	\$3,000.000	\$3,000.00
0420 WATER LINE V	901-6310 ALVE BOX ADJU:	EACH STED TO GRADE, PER MCES	16.00 SPECIFICATIO	\$875.000 NS	\$14,000.00
0430 WATER CURB S	901-6410 STOP ADJUSTED	EACH TO GRADE	4.00	\$85.000	\$340.00
0460 SANITARY MAI	902-2000 NHOLE ADJUSTE	EACH ED TO GRADE, PER MCES SPI	18.00 ECIFICATIONS	\$750.000	\$13,500.00
0470 SANITARY MAI AS PER PLAN	902-2005 NHOLE ADJUSTE	EACH ED TO GRADE, PER MCES SPE	2.00 EC, WITH COU	\$1,000.000 NTY PROVIDED FRA	\$2,000.00 ME AND LID,
0480 BASE STABILIZ	905-1207 ZATION- NO. 2 A	TON GGREGATE (CONTINGENCY)	400.00	\$45.000	\$18,000.00

				(6) Barrett Pavi	ng Materials Inc.
Line Number	Item	Unit	Qty	Price	Extension
0490	915-1201	SF	800.00	\$0.500	\$400.00
EXCESS COST (OF HIGH-EARLI-S	IKENGIH CEME	ENT (MEDIUM-SET), 4"-	O CONCRETE FLA	IIWOKK
(47 Items)			Totals:		\$838,397.25